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On the same day, in another Briish town, the maximum temperature was 16.4°C.
(@) Estimat the mumber of hours of sunshine in this town on tis day.

A westherman says,
“Temperatures ar higher o days when there is more sunshine™

(@ Doss the seator graph support wht the westherman says?
Give s resson for your snswer.

(Total for Question 1 is S marks)
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§ Katie measured the length and the width of each of 10 pine cones from the same free.
‘S wsad her sl to e his st raph.

Wi (em)

Length (c)

(2) Describe oneimprovemment Katie an mak fo her seater gaph.

a
‘The poin representing the resuls fo ome o the pine cones is n osler.
(®) Esplin hor the resuls fo his pin cone differ from the reslsfor the ofber ine

@
(Total for Question § is 2 marks)
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“The scttr diagram shows information shout 10 students,

For cach studen, it showsthe number o hours spent revising and the mark the student
achicved in the Spanish tst.

0 2 &+ 6 s 10 12 1l
Hoursspent revising,

One of the poins s a outler.
(@) Writ down the coondinates o th outlier

)
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For all the other poinis
(®) ) draw the line of st it

(@) descrbe the comelation.

A different student studis for 9 hours.

(e Estimate the mark gained by this stadent.

“The Spanish test was marked outof 100
Lucia says,
1 can see from the graph thathad T reised for 15 hours 1 would have got ull ks

(@) Comment on what Lucia sags

()

(Total for Question 1 is § marks)
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4 Ina surey, the ouside temperature and the mumber of units of slecrricity usad for
beatng were rcorded for e homas.

Thescane dagram shows i nformaton.

[—

5% s 05 % B W
Ousice mperatve
Moty says,

O average e mumber of s ofeleciciy sed for heving decreass by s
ot s r—

© 1Moty righe
StowBor you get you e

)

) You should mot s Line ofbest i predict e sasmbe of s of eleciciy sed.
Sorbesing when th ot emperanzs i 30 °C.

Gire ane esson vy

@
(Total for Question 4 i 4 marks)
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2 A delivery diver records for each deliery the distance he drives nd the fime aken.
The scattr graph shows i information.

o8 B8 v & & 8 U 8

2 4 6 5 10 1 13 16 15 0 2 2 2%
‘Distnce (lometes)
For mother delivery he deives 2 ilometes and tkes 0 mmtes.

(o) Shore tisinformstion o th st zph.
@
(%) What tpe of comelation does th scater gaph shore?
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The driver s o dve a istance of 10kam for his next delivey:
(© Estimatethe i taken for tis delvery:

Dusing ame ofte deliveies, the drver s delyed by soad works.
(@ Using e graph wrie down the i ke for this delvery:

(Total for Question
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6 The scatter sraph shows information about the age and the prie of exch of 12 cars
of the e modsl.

PO T
(b) Estimate the price of this ear.

(Total for Question 6 is 3 marks)
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2 The scatter graph shows some information about ten pine cones from the same tree.
Itshows the length and the width of each pine cone.

Length (cm)

(a) Describe the relationship befvveen the length and the width of a pine cone.

@
Another pine cone from this tree bas a length of $.4 .
(b) Estimate the width of tis pine cone.

)
(Total for Question 2 is 3 marks)
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2 The table shows the average temperature on each of seven days and the mumber of units:
of gas sed 0 beat 3 house an e days.

avergewmpenrre ) | 0 [ 1|3 [0 (0] 12 ]ns

it of gas wsed 2|16 w065 2

1

avenge temperate (C)

(&) Complre the sate gaph o o the informaton i the bl
The G 5 poars have beeaplotad fr ou.
@

(9 Descrie herelaionsip berween the average temperatre nd the mumber of it of

)
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(@) Estimaste the average temperature on a day when 12 usits of gas are used.
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2 A publisher checks documents for errors.

He reconds the numberof document that s checked cch dy.
He als econds th ol s of e . the dments s oy,

“Thescate graph showstis nfomation.

15

‘Numbe of docunentschecked

On anoher day 9 documents r checked.
Theris sl of 17 cors.
(@) Shove this inormation o the scatergraph.
o

) Descrbe the corelaon benween the mber of douments chesked and the ol
umiberof cors.

T

One day 10 documents s chcked.
(€ Estimae th ol numberof croes i these documments.

@

(Total for Question 2 is 4 marks)





image18.png
'3 The scatter graph shows some information sbout 10 cars, of the same type and make.
The graph shows he age (yeas) an the vl (£) of esch s

e )

The bl showsthe age and the vl of o ot cas of e same ype nd ke,

e ® [ w200 o0

(8 O the scater graph,plc e infrmsion from he bl
»

) Duscrbe the rlaonsip berwecn the ageand the vale of the cars.

[P T——
PRE————

)
(ot for Question 3 s 4 marks)





image19.png
2 The scatter graph shows information about 10 apartments in 4 city.

“The graphshowsthe distancefrom the ity conre and the montly e of ach
sparment.

Distance fomth iy ccntre )

“The bl shows the distanc fiomth ity cnte nd he manihly rnt for two cber

[Disance rom the city centre ) |2 )
[Monttly rent 6) £ 0

(8) On th st raphs, plo the iforation romthe abe.
0

(6 Dscribe the rlationship beowsenthe disansefrom the sty et andthe montly e

[0




image20.png
An spartment is 2. kanfrom the ciy centre.
(© Find an simate for the moadly ren o s aparment.

(Tutl for Questan 2 4 marks)
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2 The scatter graph shows information about the height and the arm length-
of cach of § students in Year 11

100

Am length
(em)

Bo 1o 150 10 10 1s0
Height (em)
(8) What type of coreltion docs this scatter graph show?

)
Adifferen student in Year 11 has a height of 145 cm.
(6) Estimate the sem length of thi stadent.

@
(Total for Question 2 is 3 marks)
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7 The scater graph shows some informtion sbout § cas.
For caccar i shows the agin sz, s, and he distnce, in Kiometes, the car
v on on s of ptol

"

2

Engine sie (les)
(@) What typ ofcomltion dos th st raph show?
W

A it car of th same ype s sn ngin size of 2.5 s,
(8 Estimtethe disanc rveled on on s ofpetol by this .

@
(Total for Question 7 s 3 marks)
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1. Suzy did an experiment to study the times, in minues, it took 1 cm ice cubes.
10 meltat diffrent tempersturs.
‘Some information sho hr resuls s givcn i the scater graph.

IEEEEEEEEER)
Temperaure ()

“The bl shos nformatio from two more experiments.

Temperatare (°0) s B

Time (Minate) B is

(@) Onthe scater graph, plt the nformaton from the ble
m

(8 Describe th relatonsip between the tempeatus and the tine it akss
3 emce cube o mel.

)

(©) Find sn cstimtefo thetme it tkes 1 e i cube 0 mel when the empertus
s

‘Suzy's dam canmor b sed 1o prdict how long it will ske 1 s cube 0 melt.
when the tempuratr s 100 °C.

@ Explsinwiy.

(Total § marks)
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2. Harriet reads eight books.
For cach book sh ecordd themamber ofpages and the e sh akes o red .

Thescater graph shows informaton shout her rsuls.

e

Number o pages

The book b 150 pages.

) Esimate the i t akes Haret 0 read .
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2 Mr Wither sels umbrelias.

“Thescatter raph shows soma nformation sk he umber of urelas sk ad e
aintall,incm, ach ot s year.

B 0 7 O 0 M
Rainallinem

I Jauaryof s e, h cafll was 1 cm.
Dusing oy, M Wihe sid 32 el

) Show tis informaton an th scater grph.

) Wt ype ofcomtation dos tis scater grph shou?

I Feruaryof i year, e Witer sold 0 umbeela
) Esimat th ol o by,
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11 The scater graph shorws some information sbout 10 cars.
It shows the time,in seconds, it takes each car 1o g0 rom O uph o 60 mph.
For aach e it aeo shors the mavimm spasd. 3 ph.

150

1450

Masimum
spec ()

130

20

1o

y g [ S S
Time (scconds)to g from 0 mph t0 60 mph

s
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A travel agent records the duration and cost of the 15 flights he sold on one day.
‘The data for the first 13 fiights are plotted on the scater diagram.

A
OO
Easasasasainea:
140 “ 1
120- i
T
100 HHH
Cost(®) g0 {1
X
ot
=
40- i i
204 HHE
t : ]
T |
50 100 150 200 250
Duration (minutes)
(a) The data for the final two flights is:
Duration 210 minutes. 1 hour 40 minutes
Cost £130 £80
Plot these flights on the scatter diagram. 21

(b) The cost of one of the 15 flights had been discounted in a sale.

Circle the most likely flight on the scatter diagram. O]
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(c) (i) Drawa line of best fit on the scatter diagram. [0}

Use your line of best fit to estimate the duration of a fight costing £90.

(e)ii)
(d) Explain why the travel agent should not use his records to estimate the cost of a 7 hour flight.

‘minutes [1]

m
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12 students take two tests.
Each est s out of 60.
Th scatter dagram shows the results for 10 of the students.

&0: o - -
50. B H E
0.
Test2
ES i i
2.
0
o.
(] o 20 0 40 e £
Test1
(@) The table shows the resuls for the other 2 students.
Test 1 % B
Test2 s z

Plot thesa resuls on the scatter diagram. m
(b) Describe the type of corrtation shown in the scater diagram.

®) e — e -
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(¢) () Draw aline of best fit on the scatter diagram. m

(1) Another student was absent or Test 2.
The student scored 40 marks on Test 1.

Use yourline of best fit o estimae a result for this student on Tost 2

(e —

() Work out the percentage of the 12 studonts whoss resut on Test 1 is lower than theirresult
onTest 2.

@ E—T
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5 The table shows the ages and values of 11 cars of the same model.

a7 JsfJwola]s[7r]s]n

Age (years)
114[23[42]34[s0]56[50] 04

Value (thousands of pounds) [ 92 [ 6.0 [ 12

‘The points for the first 7 cars are plotted on the scater diagram.

)
12 = - mararaeee]

10 i

@

(a) Plot the points for the remaining 4 cars.

) Describe the type and sirength of the correlation shown in the completed scater diagram.
ol
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(€) One car lost its value more quickly than the other cars.
On the scatter diagram, draw a circle around the point representing this car. "

(d) By drawing a ine of best i, estimate the value of a car thatis 6 years old.

(e @

(¢) Explain the limitations of using the equation of the line of best ft o estimate the value of a
carthatis 16 years old.

m
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1 Ina dance competition, two judges each award scores out of 30.
The scatter diagram shows the scores awarded to the first 10 dancers.

A
30
Y%
25
*
20
*
JudgeB 15
*
10 *
5 *
o -
0 5 10 15 20 25 30
Judge A
(a) Here are the scores for the next two dancers.
Judge A 21
Judge B 18

Plot their scores on the scatter diagram. O]
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(b) Dancers who are awarded a score of more than 20 by both judges receive a medal.

For the 12 dancers, express the ratio of medal winners to non-medal winners in its simplest
form.

®)
() This chart shows the types of dance performed by the 12 dancers.

3 performed a street dance, 8 performed a jazz dance and 1 performed a tap dance.
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4 Lee wishes to find out f there i a relationship between a person's age and the time it takes them
o compieto  puzd.
Lee decidas t canduct an experment
‘She acks 12 paopls to complei e puzze.
‘She records aach persons age an the time taken t complte the puzzl.

(2) Make one rtcsm of Lae's method.

(6) Thisscater iagram shows th resuls for ten of the paopl i Lee's sxpariment.

w
B
Time.
(seconds)
2
0.
B F R T T R T T
Age (years)
Heraarsthe cther twa resuls.
g (years) I %
Tens (ssconds) |21 =
Plot thesa rsuls on th scaterdiagram. @

(6) Wiatype of corlation i shown in th scater Gagram?
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(d) Estimate the tme it woukd take a person aged 35 to complete the puzzie.

‘Show your working o sty your answer

@

(e Los says that at sast 80% of the 12 people complted the puzzle i under 20 ssconds.

s Loe comact?
‘Showworing o suppor your answer:
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19 Ceri records the time taken, f minutes, to travel to school for a sample of 168 students at her
Academ.

Time taken
(tminutos) requency.
o<t<10 )
t0<i<20 50
20<1<40 -
4w0<t<80 20

(8) Draw a histogram to represent this information.
4
i 3 i
] k0 2 £ ) £ ) 70 £
Time (t minutes)

“
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(b) Cerisays
The longest time that any of these students fook to fravel to school was 80 minutes.

Is she correct?
Give a reason fo your answer.

)

(€) Cerialso claims that 25% ofalofthe students at this Academy took more than 30 minutes o
ravel to school.

() Show how Ceri might have worked out her ciaim. [
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4 The scatter diagram shows the results of 17 students in their French test and their German test.
Both tests are out of 100.

[}
100- T &

90
g4 i Hotd e
70 x
German test %
80t g : 1
50 : i
40 . E
30 i
20 ik 4

10 .

1 2 3 40 50 60 70 8 g0 100
French test

(a) Here are the results of another 4 students.

French 21 75 | 48 | 53

German 20 [ 78 | 46 | 61

Plot these results on the scatter diagram. 2

(b) Describe the type and strength of the correlation shown in this diagram.
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(€) Work out the percentage of the students whose German result was higher
than their French result

% 4]
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3

(a) The owner of a tourist attraction records the amount of rainfall, in milimetres, and the number
of visitors each day.
The resufs for 10 days are shown in the scatter diagra.

A
400 - + .
ssof H H : H
300- H i + &
250.
Number of
vistors 50 5 i H i
150
100 + + A |
50
o >
G 1 2 3 i 5 8 7 8 5 1
Rainfal (mm)
() Circe the autier on the scatter diagram. m
i) The owner claims that he would expect around 320 visitors on a day with 2mm ofranfal

Doss the scatter diagram support his statement?
Explain how you made your decision.

@

Explain why the scatter diagram should not be used to estimae the number of visiors on
‘2 day with 9mm of rainfall.
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(b) The pie chart summarises information about the visitors to the tourist attraction on a different
day.

Explain why the pie chart cannot be used to work out how many adults visited on that day.
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& John wanis to investigate whather men n the UK are better a estimating a tme inferval of
10 seconds than women inthe UK. He decides to sample the population by asking his work

Frequency density

collsagues to take the test.

The diagrams below summarise John's resuls.

vaes Fomakes
1 ®
1 1
2 12
g
10 R
8 g
. £
. s
2 2
0 0
&5 90 95 100 105 110 15 90 95 100 105 10 18
Time estimated (seconds) Time estimated (seconds)
120 . - )
s i - ]
3 o
§ 10s . |
2 100 £ % |
H
3 os
£ w0 i & |
85 i i ]
o
ol 2w 4 s e 10




image44.png
(@) Wnatinformation from the diagrams can be used to support each of these statements?

() The older Johris colleagues are, the lower their estimate is.

m
(@) Moles in the somple fend o underestimate the inerval ond females in the somple
fend 1o overestimate fhe inferval.
]

{b) Comment on whether any conclusions can be drawn forthe UK popuiation rom the resus
of this sample.
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Aand B are scatter graphs.
Graph B

Graph A

What type of correlation is shown by each graph?
Choose from

[2 marks]

Graph A

Graph B
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4 Scan has drawn 3 time scrics graph to show the numbers, in thousands, of Visitors 10 3
fun park.

10

Wit down two things that re wrong or could b misleading withtis graph.

(Tota for Question 4 s 2 marks)
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‘The scatter graph shows the age and the price of 18 cars.
The cars are al the same make and model.

A

g

prie (£)

1000

o 1 2 3 4 5 6 7 8
Age (years)

Use a line of best ft o estimate the price of @ 6-year old car.
[2 marks]

Answer £
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2 Sean has information about the height, in cm, and the weight, in kg, of each of ten rugby players.
He s asked to draw a scatter graph and a line of best fit for this information.
Here i his answer.

4
105

100

Weight (kg) x

T T ]
Height (cm)

‘Scan has plotted the points ccuratly.

‘Wite down two things that sre wrong with his answer.

(Total for Question 2 is 2 marks)
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1 The scatter diagram shows information about 12 girls.
1t shows the age of each girl and the best time she takes 0 run 100 metres.

16

15

"

13

12

n

10

Agein years

(@) Wrte down the type of corelation.

[y
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Kristina i 11 years old.
Her best time to run 100 metzes s 12 seconds.

“The point representing this information would be an outir onthe scater diagram.
©) Explain why.

Debbicis 15 years old.
Debbic says,
“The scatter diagram shovws | should ke les than 12 seconds to run 100 metres.™

(©) Comment on what Debbic says.
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1 The scatter graph shows the maximum temperature and the number of hours of sunshinc.
in fourtcen Bitsh towns on one dsy.

4

2

10 .
7 9 1 3 s @

Numberof hours of sunshine

Oneof the poins is an outicr.
(8) Writ down th coordinats oftis point.

(6) For sl theother points write down the type of corrclaton.

ay





